calculation with visual ex| erlmenlal (e) data adjusted above save 7 data above as text

ai=egg, b=eoa"as, ba=ess(1-bp)+bz, C=b1, C4=bo, cs=bg

cr=ez’b1, t:Feu(brbz)ﬂ:l r;ra,s(h b)+bz, l:resa(l ba)sbs | save 9 data below as text
+0,04 H+0,04 HI-+0,04 F[88-+0,04 58 +0,04 HI+0,04 HIN+0,04 EJ88-+0,04 5 8-0,04

grey example 0,250,060 adjust and proof threshold of
0,25 +0,009 no change the linearized output
restart with image 1

her90-4a, image 4, adjust visual threshold (+0,047?) of 9 steps: all equal?




